I

Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2020c *** 4 giften per ronde **I1NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OwW gift 4 NZ OW

1 Gorissen Gerty-Swinnen Pauline 2 Creemers Lambert-Hendriks Jos 1 2 0,2 11,8 -170 W3S+1 6 6 120 Z1N+1 |8,3 3,7 420 Z4H= 11,6 0,4 -100 N1K-1

3 Smeets Guy-Leurs Marlies 4 Schoemakers Els-Berben Mari] 10 11 |10,7 1,3 50 W3s-1/9,5 2,5 180 z1N+3 |11,8 0,2 450 N4H+1 -1 -1 0 W3N+2

5 Vercruysse Roger-Wirix Mia 6 Venken Olga-Smolders Wies 4 7 niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd

7 Reyskens Andre-Hubrechts Arthur 8 Creemers Rina-Nouwen Christiane 5 12 (2,5 9,5 ~150 olN+2 |11,8 0,2 600 z3N= |8,3 3,7 420 NaH= 0,4 11,6 -200 N1K-2

9 Dewael Albert-Vanhoef Pierre 10 Janssen Miet-van der Perre Jan

11 De Caluwe Lea-Bonc Sonja 12 Jacquet Guy-Swartele Lou 13 6 |10,7 1,3 50 w4s-1 6 6 120 z2N= |0,2 11,8 -50 N4H-1|4,6 7,4 -140 02S+1

13 Coolen Lucienne-Witters Clement 14 Surinx Eddy-Gielen Gerda o 14 6 6 -110 w2s= 10,2 11,8 -300 22H-32,5 9,5 140 NIH+2 |4,6 7,4 -140 W25+1
5 8 6 6 -110 w2s= |2,5 9,5 110 Z3K= |4,8 7,2 170 N3H+1 |8,8 3,2 -120 WIN+1

NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ OW |gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OwW

3 4 0,2 11,8 -460 O3N+2 6 6 -50 ze6N-1 8,3 3,7 200 OIN-2 6 6 140 N3H= 5 6 |2,59,5 -620 04H= |9,5 2,5 650 N4H+1 |1,3 10,7 100 01S-2/3,7 8,3 —-450 04S+1

12 13 18,3 3,7 50 wW3N-1 (2,5 9,5 -100 N4H-2 |11,8 0,2 400 O3N-4 -1 -1 0 O3N+1 14 1 |4,8 7,2 -180 W2N+2 |9,5 2,5 650 N4H+1 |9,5 2,5 140 N2H+1 |10,7 1,3 -400 O3N=

6 9 |niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd 8 11 |niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd

5 148,3 3,7 50 W4H-1 6 6 -50 zZ3N-1 (8,3 3,7 200 W3H-2 | -1 -1 0 O3N+1 72 10,7 1,3 100 O5N-1j0,2 11,8 170 N1H+3/4,8 7,2 110 zls+l1 | -1 -1 0 Z3H-2

1 8 8,3 3,7 50 04H-11(9,5 2,5 110 N2H= |[0,2 11,8 -600 O3N=| -1 -1 0 O3N-1 3 10|7,2 4,8 -150 W2N+1 |4,8 7,2 620 N4H= |11,8 0,2 170 z2s+2 -1 -1 0 N2N-1

11 2 |2,5 9,5 -420 O4H= |11,8 0,2 430 N3N+1/4,8 7,2 100 O2N-1| -1 -1 0 O3N+1 13 4 0,2 11,8 -660 O3N+2/9,5 2,5 650 N4H+1 |1,3 10,7 100 02S5-2/3,7 8,3 -450 04S+1

7 10 (8,3 3,7 50 04H-1|0,2 11,8 -150 Z4s-3/2,5 9,5 -80 Wls= -1 -1 0 zZ2s5-1 9 12|10,7 1,3 100 w4H-1/2,5 9,5 200 N2H+3 |7,2 4,8 120 N2N= -1 -1 0 Z2N+2

NZ OwW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OwW |gift 17 NZ OW gift 18 NZ OW gift 19 NZ OW gift 20 NZ OW

7 8 9,5 2,5 150 z2N+1 (4,8 7,2 -50 Z3H-1|7,2 4,8 140 z2s+1 |7,8 4,2 110 Z3R= 9 10/(7,2 4,8 110 z2H= |10,7 1,3 50 wi1s-1/9,5 2,5 520 N3N+4 |1,3 10,7 -630 O3N+1

2 3 6 6 130 z3K+1 |4,8 7,2 -50 N3N-1 (4,8 7,2 110 z3K= |0,8 11,2 -150 OIN+2 4 5 |4,8 7,2 100 w4s!-1j0,2 11,8 -300 N2N-3/11,8 0,2 1020 Z6N+1 6 6 -100 z3N-1

10 13 |niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd 12 1 niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd

9 4 1|2,59,5 120 N2N= |O0,2 11,8 -100 N3N-2/11,8 0,2 600 N3N= |11,2 0,8 200 W2S-2 11 6 |0,2 11,8 -170 W2S+2/3,7 8,3 -110 O2K+1 |0,2 11,8 150 N4K+1] -1 -1 0 N3K=

5 12)0,2 11,8 -200 Z4k-2/4,8 7,2 -50 zZ3R-1 (1,3 10,7 -100 NIN-1/4,2 7,8 -120 O2N= 7 14 |10,7 1,3 150 w5S-3/7,2 4,8 -100 Z3R-1 |4,8 7,2 400 N3N= -1 -1 0 N3K+2

1 6 6 6 130 z3K+1 |10,7 1,3 400 N3N=|1,3 10,7 -100 zZ3N-1] -1 -1 0 w2s-1 3 8 |2,5 9,5 50 w4s-1 (3,7 8,3 -110 O2K+1 (2,5 9,5 170 N3K+3 |10,7 1,3 100 w4s-1

11 14 |11,8 0,2 180 N2N+2/10,7 1,3 400 N3N=|9,5 2,5 150 N2N+1 | -1 -1 0 04S!'-4 13 2 10,7 1,3 150 w4s-3/10,7 1,3 50 OIN-1|7,2 4,8 490 N3N+3 | -1 -1 0 W3H-4

NZ OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OwW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NZ OW

11 12 |11,8 0,2 -130 W3R+1/4,8 7,2 -170 W3H+1 |2,5 9,5 -690 W3N+3 |10,2 1,8 50 W3N-1 13 14 4,8 7,2 -90 wWiN= |10,7 1,3 120 Zz1N+1|4,8 7,2 -50 N3H-1 |10,2 1,8 660 N3N+2

6 7 9,5 2,5 -140 02s+1 |11,8 0,2 -90 O2R= (2,5 9,5 -690 W3N+3 |3,2 8,8 -110 O2K+1 8 9 |11,8 0,2 200 Ols-2 6 6 110 z2H= |8,3 3,7 90 zZ2R= |10,2 1,8 660 N3N+2

14 3 |niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd 2 5 |niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd

13 8 6 6 -150 W2N+1 (4,8 7,2 -170 W3H+1 |7,2 4,8 -660 W3N+2 |3,2 8,8 -110 O3K= 1 101(2,5 9,5 -120 w2N= |1,3 10,7 -200 z2N-2/11,8 0,2 100 WlN-2] -1 -1 0 W4H-2

9 2 0,2 11,8 -300 Zz1H-3/9,5 2,5 -140 W2H+1 10,7 1,3 -650 O4H+1|3,2 8,8 -110 O2K+1 11 4 0,2 11,8 -180 WIN+3 -1 -1 0 O3R+1 |2,5 9,5 =90 W2K= 6 6 630 N3N+1

5 10 6 6 -150 W2N+1 4,8 7,2 -170 W3H+1 |10,7 1,3 -650 O4H+1] -1 -1 0 O5K-3 7 12 /8,3 3,7 100 w2N-1 | -1 -1 0 W5K-2 (8,3 3,7 90 zZ2R= |1,8 10,2 600 N3N=

1 4 |2,5 9,5 -180 wW2N+2 |0,2 11,8 -200 W2H+3/2,5 9,5 -690 W3N+3 |10,2 1,8 50 O3N-1 3 6 |8,3 3,7 100 o1ls-1| -1 -1 0 WiN+3 |0,2 11,8 -100 Z1N-2/1,8 10,2 600 N3N=




